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QUESTION 1

How do the reference business objects, business services, and process models contained in the Application Integration
Architecture (AIA) Foundation Pack map to the layers of the service-oriented integration architecture?

A. The reference business objects, business services, and process models map to the Business Services layer.

B. The reference business objects and reference business services map to the Business Services layer and the
reference process models map to the Business Process layer.

C. The reference business objects map to the Connectivity layer, the reference business services map to the Business
Services layer, and the reference process models map to the Business Process layer.

D. The reference business objects map to the Data Normalization layer, the reference business services map to the
Business Services layer, and the reference process models map to the Business Process layer.

E. The reference business objects, business services, and process models map to the Business Process layer.

Correct Answer: E

QUESTION 2

You are a senior architect in an organization that wishes to adopt SOA for a number of projects in the future because of
agility and cost reduction benefits. Who needs to be engaged in the changes that will impact the organization and which
functional units should be Involved In implementing a successful SOA initiative?

A. The head of the IT delivery organization needs to be engaged because It is their organization that will be affected the
most by this change. The business and operations will continue as before.

B. The CIO needs to be leading this initiative as all aspects of IT need to be engaged from delivery through to
operations, but business involvement can be minimised,

C. The SOA can be built up on a project-by-project basis so each project needs to be engaged when needed.
D. The CEO must drive this initiative because it will have far-reaching impacts for all parts of the organization.

E. The CIO and leaders of those business units falling under the scope of the SOA initiative need to drive the changes
required for SOA adoption.

Correct Answer: E

QUESTION 3

One of the SOA deployment models defined by Oracle Reference Architecture is Segregated Deployment. What is
Segregated Deployment?

A. An approach for deploying services and infrastructure to support Services that have alocalscope

B. An approach to Services deployment in which Services and applications are co-deployed in a segregated
environment
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C. An approach to Services deployment that promotes the separation of Services from applications and the grouping of
Services with similar availability needs

D. An approach to development where the Service development environment is isolated from the Service deployment
environment

Correct Answer: C

QUESTION 4
What are the two key differences between SOA infrastructure and traditional infrastructure?

A. SOA infrastructure does not need to provide monitoring and management capabilities whereas, traditional
infrastructure does.

B. The highly distributed, heterogeneous nature of SOA attempts to bring a number of disparate moving parts together,
making it more complex naturally.

C. Traditional infrastructure is based on standards, allowing you to choose from various products and vendors which are
best suited to meet your requirements.

D. Services are more granular than applications. So the infrastructure should be able to support the distribution,
deployment, discovery, and management of these granular artifacts.

Correct Answer: BD

QUESTION 5
How should the stated service-oriented Integration architecture principles be applied at an organization?

A. All of the architecture principles must be followed. If any of the principles are violated, the architecture is not service
oriented.

B. The organization should review and evaluate the architecture principles, and then derive their own architecture
principles that match their specific environment and goals.

C. An organization can add additional architecture principles, but the stated architecture principles must be followed.

D. An organization can decide to not enforce one or more of the architecture principles, but additional architecture
principles will not be needed.

E. The architecture principles define what products will be used in the architecture, so the architecture principles must
be adjusted to reflect the chosen products.

Correct Answer: B
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